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BaxomanTe YCHO

. Vraxirs f(g(x)), axmo:
a) f(x) = x* i g(x) = tgx; 6) f(x) = tgx i g(x) = x¥%
B) f(x) =2x—-1ig(x)=ctgx; r) f(x)=ctgxig(x)=2x—1.

a) f(g(x)) = (tgx)?

6) f(g(0)) = tg(x®)
B) f(g(x)) = 2ctgx — 1

r) f(gx)) = ctg(2x — 1)



YraxiTe f(x) i g(x), axmo:
a) f(g(x)) = sin(x? — 5); 6) f(g(x)) = V1 -2
B) flg(x)) = (tgx + 1)°.

a) f(g(x)) = sin(x? — 5)
f(x) = sinx g(x) =x?-5
6) f(9(x)) =V1—x°
FOO) = Vi 90 =1-x°
B) f(g(x)) = (tgx + 1)°

f(x) = x> gx) =tgx +1



7K 3HanTU noxiaHy cKknageHol
doyHKLII?

Craig IEpEMHOKHUTH NOX1THY
30BHIIIHBO1 Ta MOX1AHY
BHYTPIIIHBO1 (PYHKIIII.



CtopiHka 73, npuknag! CamocTinHO!
SHaUAITE noxigny dbyakmnii (318—324).
31.a) y=(x+3)*° . OB)y=02 -2 B) y = (1 — x%)°.

a)y = (x + 3)%°
f =u? !/ =20ut?
g=x+3 g/=1

y/ =20(x+3)1°-1



SHAUZITE noxXigny Gyarnii (318—324).

31B.a)y=(x+3)*° . By=(2-27 B) y = (1 — x5,
6)y =(2—x)’

f=u7 f/:7u6

g=2—x g/=—1



SHaAUAITE noxigny byakmii (318—324).

318.a) y=(x+ 3)*°; . 0) p=@2—=x)%

B)y = (1—x%)°
f=uS f!/ = 5u*
g=1-—x3
y/ =51 —x3)*- (-3x?)

y/ = —15x2(1 — x3)*

B) ¥y = (1 — x°P°.



320, a) y = sindx;
3x

r) y = tg —;
yg4

y = sindx

f =sinu f/ =cosu

g = 4x g/=4

y/ = cos4x - 4 = 4cosdx




3Hanan NoxiAHY CKiageHol QyHKUII:

1) f(x) = sin 4x; 2) f(x) = (5x — 1)*.

PO3B'930K:

1) (sin4x)' = cos4x - (4x)' = 4 cos 4x;

2) ((5x— 1)) =4(5x - 1)* - (5x 1)
—4(5x — 1)* - 5 = 20(5x — 1)°.



CAMOCTIMNHO

3HaUTU NOXiaHy cknageHol yHKUil

y = (3x3 - 1)°.

y = (3x* - 1)* — cknanena pyunkmis y = u®, ge u = 3x* - 1, voxi
v =yl -ul ¥y =@®) - (8x* - 1) =5u - 9x =5(3x* - 1)* - 9x =
= 45x(3x* -1)".



JlomallHS
Lpo60Ta

3HanTun noxigHy dpyHkUi

a)y=51-2x); 6)y=(@3+ x?%

. a) Yy = sindx; 0) y = ctglx;
3x x

r)y=tg —; r) y =sin —;
7 g4 ) y = si 3

8) ¥ = (2x + 1.

B) Yy = tg3x;

n)y“cosz—x
3



